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Midterm Review Sheet

Directions: Read each question carefully and show all work for full credit.

Fill in the table below...
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Estimate each to the nearest fenths place.
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Order the follo w:ng from least to greatest.
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For each of the following state, "rational”
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Write each of the following numbers in scientific notation
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or “irrational” and explain why.
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mplify completely. Where necessary, express your answer using only POSITIVE
2xponents; ' :
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Write each answer using scientific notation.
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Cirt/&he appropriate unit of measure for each of the following...

50
50. The average length of a newborn is 43.2

51. An average weight of a newborn is 3.2

52. Find the slope for each of the following.
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54, Graph each of the following lines.

a. y=3x-5

S N \

] WaN
ol %ﬁg_

[N g 4 —;2 ‘-1; .Ejf Ii 4 5 2
RERY/
s

every day three more people sign up.
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55. The goif club is looking for new members. There are currently 6 students in the club but

a. Identify the input and the output for the situation and create a table
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b. Draw a graph of the situation. Be sure to label each axis
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c. Write a linear equation that represents the situation
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d. Use the equation you wrote in part ¢ to answer each of the following
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"‘g P g~

Y=kt ! Ny = IS fﬁﬁa?q
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e. What is the s/ope of this situation? What is the y-infercept of this situation?
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56. Write the eguation for the line that goes through each pair of points listed below...
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¢.  Write an equation for each climber.
i. Ted: ‘g = Qx4 200
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58. Solve the equations...
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59. For a-f, identify if the scatter plot has a positive association, negative association, or no

association.
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50. What is an outlier? Include a sketch of a graph to help illustrate your explanation.
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For 61-68, use the table below. The table represents an item that is sold at the local store. It
compares the price of the item and how many items were sold when it was listed at that price.

Price Quantity Y
Sold
1 68 70
1.20 68 o0
5.10 10 “ L
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61. Make a scatter plot of the data. Label both the x—axis and the y—axils.
62. Describe the type of the association between the price of an item and the guantity sold.
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63. Draw a trend line that best fits the scatter plot. Make sure you have arrows on your line.

64. Write an equation far the line of best fit in Slope-Intercept form
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65. In the equation you wrote in #64, the slope, or mﬂmgwﬁ
In the context of the price/quantity S|tuatlon this means that...
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66. In the equation you wrote in #64, the y-intercept, orb = %Q .
In the context of the price/quantity situation, this means that...
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67 Using the equat;on to #64, if 42 customers buy the item, what was it priced at? Show your work
-~ for full credit.
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68. Using thé equation to #64, if an item costs $6, how many customers will buy it? Show your work
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70. Solve by substitution.
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/1. Solve by elimination.
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Eor numbers 72-79, circle the method that you
hing grids for the problems that

You only need to use the grap
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77 graphing @ elimination ' o
-6x + Zye= -8
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78. The student council is planning an ice skating trip. Ice World charges a $150 fee to rent the rink
and then they charge an additional $5 for each student that comes. Rink-a-Rama charges a $300 fee
to rent the rink and then an additional $2 for each student that comes. For what number of

students, would the rinks cost the same price?

~ a. Write a system of linear equations.
e wotd = 5x+ 15D
Rinta Camo. Y = 2x +300

b. Solve the system to answer the question.
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79, There are 340 animals on a Bill's farm. Some are sheep and some are chickens. If there are a
' total of 940 legs among the animals, how many of the animals are sheep and how many are

chickens?
a. Write a system of linear equations.
C=chmckans o+ =340
S = Sheep Ac yys = 940
b, Solve the system to answer the guestion.
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80. For each of the following, determine how many solutions the system will have, without graphing
or solving. Explain how you know.
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